Matematyka |

Zestaw zadan numer 11 - rozwigzania

1.
a) f'(x) = 8x3 + 15x% — 8x + 10

b) f'(x) = e*(x3 + 5x? + 5x + 1)

' Y(xZ+x+1
&) f'(x) =
, 6
(0=
2.

a) Oé y (0120)1 Oé X (llo)l (-410)1 (510)
b) Oé y (01-6)1 OS’ X (-210)1 (310)
c¢) funkcja nie przecina osi y, 0$ x (2,0), (-2,0)

d)osy(0,1), o0s$x(-1,0)

3.
a) min (1, —%) max (—1,2)

b) min (3, —z) max G,g)
c) min (0,—1)

d) min (0,0) max (—2,—8)



4.
a)ixt +2x3 —2x2 +9x+¢
4 3 2
3 X
b)—;+5€ +c

c) —gcos(Sx +6)+c

d) —%e‘zx” +c

e) 5xsin(x) + 5cos(x) + ¢

f) 3xe* —3e* + ¢

a) 30

b) 5e2 —5e~! —31
c)et—e+2

d) 4/5

e)l



